STO095RS

Bending Radius Unit

Layout of the Chain Chain Cross Section

Bending Lp Lf H
Radius(R) Loop Length Loof Projection | Moving Height Chai " B 5 D
ain Frame f
12 o Wt o/
' 75

200 1,479 634 210 143 3.48
230 1,666 694 168 100 3.55
280 2,146 889 193 125 3.73
400 3,232 1,319 218 150 3.84
243 175 3.96

258 190 4.07

STO095RS 268 90 200 56 414

298 230 4.30

308 240 4.36

318 250 4.41

368 300 4.67

418 350 5.03

468 400 5.43

Assemble divider every second frame

DV/T : Applied to Frame 250~400

DV/M : Normal Divider

DV/W : Applicable to System Tie Wrap or FEB

.l ® Adjustable Separator length
| 20~400mm |

@ sb-DV060/S @ sb-DV060/M @ sb-DV060/MS

I T15mm
= : ,
= Chain Type Ordering No.
- STO95RS sb-SP/400.Frame

@ sb-DV0O60/W

q

18 |

[2e] [ug

1 06 # Dimensions in mm



Moving End Fixing End
Free End BraCKet(FEB) 8-@10(M10 Bolt Holes) 8-@10(M10 Bolt Holes)
= ==
sl HEOF
0] | gl JEL B Z 2
| ,M%%? Bt L @%
23 44 44 23
C Frame
Crain Type e Hole Type
i
143 75 ‘ c
168 100 E
193 125 7 P i
218 150 99 b [=ic
243 175 124 r
258 190 139 M10 4-@10(M10 Bolt Holes)
STO95RS 268 90 200 56 149

308 240 189
318 250 199
368 300 249
418 350 299
468 400 349

System Tie Wrap(STW) Steel End Bracket(SEB)

It is a unit to classify each cable for
preventing entanglement of cables.
It can either be installed to free end

bracket or installed separately according

its application environment.

C+42

Cc+21

C
|~ 4-210(M10 Bolt Holes)

00000000000000000000000000

Chain Type Ordering No. Hole Type

C+26

Moving End Fixing End
M10 Bolt Holes M10 Bolt Holes
2.1 124
— =
' UL —
9 S d 85248
E O O O
Ell Front View
—

[l
o

82

S-TW.EB060.75
S-TW.EB060.100 100
S-TW.EB060.125 125
S-TW.EB060.150 150 A @z—n 5 @ a5 us
S-TW.EB060.175 175 ams || e
S-TW.EB060.190 190 —z
STO095RS S-TW.EB060.200 200 M10 Bolt Holes
S-TWEB0B0, 240 540 Chain Type Ordering No. -“
S-TW.EB060.250 250 S TW50
S TWERI D e ST095RS STW100 98 105
: : S-TW125 122 129
. S-TW150 141 148
Guide Channel
= C-zoro [N ousng U-Shapo
‘ ACC+68 .+‘ 70
| | 4%__}*2
0 ¥ I H H ‘ 1 %76 . Ni
Je IRl =S5 C |4 S,
@§@§@L 2 | J 3| £
- H o F b SR L & B \ Al E
¥ : ¥ i ¥ m'T - [] A+206 g} —
A+20.6 A+20.:IZ ‘ A¥20672 HOUSING A HOUSING A1 HOUSING B
Assembled at the beginning & end part of guide channel
Side Panel
59’; 7 100 I 100 | 100 I 100 | 100 ‘ 100 | 100 ‘ 100 I 0 | 0 | 0 | 100 | 100 I 100 | 100 I 100 | 100 I 100 | 100 I 100 7
8 %t‘t’f* }i::}%?:}:} i:£iff,i:&}iii}ii:}iii}ii:}iii}i: E::}:if:tf;}/ﬁ:ig gﬂi‘?‘

# Dimensions in mm

Shift Chaine 107

SHS60LS » 9dAL PIS 19]|0Y * UteYD HIYS



